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MEASURING THE BENEFIT YEAR UNDER THE MA PFMLA 

 
1. Rocky requests his first MA PFML leave on October 15, 2021.  

 Q: When does his leave year begin? 

 A:_____________________________ 

 Q: When does his leave year end? 

 A:______________________________ 

2. Rocky takes: 
 

• 14 weeks of medical leave, from 10/15/21 – 1/14/22.  
• 12 weeks of family leave, from 05/06/22 – 06/22/22.  

Rocky then requests 3 more weeks of medical leave, to begin on 09/15/22. 

 Q: Is Rocky eligible for the additional 3-week medical leave? 

 A:_______________________________________________ 

3. Rocky then requests 10 weeks of family leave, effective 11/14/22.  

 Q: Is Rocky entitled to this time? 

 A:________________________  

4. If so… 

Q: When would this new leave year begin? 

 A:____________________________________ 

 Q: When would this new year leave end? 

A:____________________________________ 
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CONTRIBUTION RATE SPLIT FOR EMPLOYERS WITH 25 OR MORE EMPLOYEES 
 

Use $57,000 as sample salary 

1. Calculate total contribution (0.63%, or 0.0063): ______________ 
 

MEDICAL LEAVE CONTRIBUTION 

2. Calculate overall medical leave contribution (0.52% payroll, or 0.0052): ______________ 

a) Calculate employer’s share of medical leave contribution (60% of #2, or 0.6 of #2) 
_________________________________________________________ 

b) Calculate employee’s share of medical leave contribution (40% of #2, or 0.4 of #2) 
_________________________________________________________ 

To check your work:  

EMPLOYER’S SHARE + EMPLOYEE’S SHARE = TOTAL MEDICAL LEAVE CONTRIBUTION 

(2a answer) + (2b answer) = (2 answer) 

 

FAMILY LEAVE CONTRIBUTION  

3. Calculate overall family leave contribution (0.11% payroll, or 0.0011): ______________ 

a) Calculate employer’s share of family leave contribution (0% of #3, or 0 of #3) 
__________________________________________________________ 

b) Calculate employee’s share of family leave contribution (100% of #3, or 1 of #3) 
__________________________________________________________ 

To check your work: 

EMPLOYER’S SHARE + EMPLOYEE’S SHARE = TOTAL FAMILY LEAVE CONTRIBUTION 

(3a answer) + (3b answer) = (3 answer) 
 

To check your overall answer: 

TOTAL CONTRIBUTION FOR BOTH MEDICAL AND FAMILY LEAVE 

(MEDICAL LEAVE) + (FAMILY LEAVE) = (TOTAL CONTRIBUTION) 
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CONTRIBUTION RATE SPLIT FOR EMPLOYERS WITH FEWER THAN 25 EMPLOYEES 
 

Use $57,000 as sample salary 

1. Calculate total contribution (0.63%, or 0.0063): ______________ 
 

MEDICAL LEAVE CONTRIBUTION 

2. Calculate overall medical leave contribution (0.52% payroll, or 0.0052): ______________ 

a) Calculate employer’s share of medical leave contribution (0% of #2, or 0 of #2) 
_________________________________________________________ 

b) Calculate employee’s share of medical leave contribution (40% of #2, or 0.4 of #2) 
_________________________________________________________ 

Remember:  

Up to 40% of the medical leave contribution can be deducted from employee wages. Employers don't 

have to contribute the remaining 60% when there are fewer than 25 employees. 

 

FAMILY LEAVE CONTRIBUTION  

3. Calculate overall family leave contribution (0.11% payroll, or 0.0011): ______________ 

a) Calculate employer’s share of family leave contribution (0% of #3, or 0 of #3) 
__________________________________________________________ 

b) Calculate employee’s share of family leave contribution (100% of #3, or 1 of #3) 
__________________________________________________________ 

To check your work: 

EMPLOYER’S SHARE + EMPLOYEE’S SHARE = TOTAL FAMILY LEAVE CONTRIBUTION 

(6a answer) + (6b answer) = (6 answer) 
 

To check your overall answer: 

TOTAL CONTRIBUTION FOR BOTH MEDICAL AND FAMILY LEAVE 

(MEDICAL LEAVE) + (FAMILY LEAVE) = (TOTAL CONTRIBUTION) 
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CONTRIBUTION RATE SPLIT HYPOTHETICAL 
 

Assume Company X has a yearly payroll of $13.5 million and 460 employees. Assume further that all 
employees earn less than the social security base limit ($132,900 for 2019). 

Preliminary step: Determine which contribution rate split to utilize, based on the number of employees 
at Company X.  

1. Calculate total contribution (0.63% payroll, or 0.0063): ______________ 
 

MEDICAL LEAVE CONTRIBUTION 

2. Calculate overall medical leave contribution (0.52% payroll, or 0.0052): ______________ 

a) Calculate employer’s share of medical leave contribution (60% of #2, or 0.6 of #2) 
_________________________________________________________ 

b) Calculate employee’s share of medical leave contribution (40% of #2, or 0.4 of #2) 
_________________________________________________________ 

To check your work: 

EMPLOYER’S SHARE + EMPLOYEE’S SHARE = TOTAL MEDICAL LEAVE CONTRIBUTION 

(2a answer) + (2b answer) = (2 answer) 
  

FAMILY LEAVE CONTRIBUTION  

3. Calculate overall family leave contribution (0.11% payroll, or 0.0011): ______________ 

a) Calculate employer’s share of family leave contribution (0% of #3, or 0 of #3) 
__________________________________________________________ 

b) Calculate employee’s share of family leave contribution (100% of #3, or 1 of #3) 
__________________________________________________________ 

To check your work: 

EMPLOYER’S SHARE + EMPLOYEE’S SHARE = TOTAL FAMILY LEAVE CONTRIBUTION 

(3a answer) + (3b answer) = (3 answer) 
 

To check your overall answer: 

TOTAL CONTRIBUTION FOR BOTH MEDICAL AND FAMILY LEAVE 

(MEDICAL LEAVE) + (FAMILY LEAVE) = (TOTAL CONTRIBUTION) 
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ADDITIONAL EXAMPLE (ANSWER) 
 

Assume Company X has a yearly payroll of $9,741,000 and 144 employees. 

Assume further that all employees earn less than the social security base limit ($132,900 for 
2019). 

Preliminary step: first determine which contribution rate split to utilize, based on the 
number of employees at company x. 

• Answer: Use contribution rate split for employers with more than 25 employees, 
since the company has 144 employees. 
 

Total Contribution = 0.63% PAYROLL 

 Step 1: Convert 0.63% to decimal 

• Answer: 0.63% = 0.0063 

Step 2: Multiply payroll by percentage 

• Answer: $9,741,000 X 0.0063 = $61,368.30 

Medical Leave Contribution = 0.52% payroll 

 Step 1: Convert 0.52% to decimal 

• Answer: 0.52% = 0.0052 

Step 2: Multiply payroll by percentage 

• Answer: $9,741,000 x 0.0052 = $50,653.20 
 

Note: This 0.52% of payroll breaks down into Employer’s Share (60%) and Employee’s 
Share (40%) to equal the total 0.52% of the payroll. 

1. EMPLOYER’S SHARE = 60% 
 
Step 1: Convert 60% to decimal 
 

• Answer 60% = 0.6 

Step 2: Multiply total medical leave contribution ($50,653.20) by percentage (60%) 

• Answer = $50,653.20 x 0.6 = $30,391.92 
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To put into perspective, 

To find how much the employer pays for each employee: 

• Answer = $30,391.92 / 144 employees = $211.055 (employer pays per 
employee) 
 

2. EMPLOYEE’S SHARE = 40% 
 
Step 1: Convert 40% to decimal 
 

• Answer 40% = 0.4 

Step 2: Multiply total medical leave contribution ($50,653.20) by percentage (40%) 

• Answer $50,653.20 x 0.4 = $20,261.28 

Final step: check your work. 

EMPLOYER’S SHARE + EMPLOYEE’S SHARE = TOTAL MEDICAL LEAVE 
CONTRIBUTION 
           ($30,391.92)           +         ($20,261.28)              = $50,653.20 

 

Family Leave Contribution = 0.11% payroll 

 Step 1: Convert 0.11% to decimal 

• Answer: 0.11% = 0.0011 

Step 2: Multiply payroll by percentage 

• Answer $9,741,000 x 0.0011 = $10,715.10 
 

1. EMPLOYER’S SHARE = 0% 
 
Step 1: Convert 0% to decimal 
 

• Answer 0% = 0 

Step 2: Multiply total family leave contribution ($10,715.10) by percentage (0%) 

• Answer $10,715.10 x 0 = $0 
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2. EMPLOYEE’S SHARE = 100% 

 
Step 1: Convert 100% to decimal 

• Answer 100% = 1 

Step 2: Multiply total family leave contribution ($10,715.10) by percentage (100%) 

• Answer $10,715.10 x 1 = $10,715.10 

To put into perspective, 

To find the amount each employee contributes individually: 

• Answer = $10,715.10 / 144 employees = $74.410 (each employee contributes 
individually) 

Final step: check your work. 

Employer’s share + employee’s share = total family leave contribution. 

($0)           +     ($10,715.10)    = $10,715.10 

TOTAL CONTRIBUTION FOR BOTH MEDICAL AND FAMILY LEAVE 
($50,653.20) + ($10,715.10) = ($61,368.30) 


